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General Instructions :
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@)
(i)

Gii)

(iv)

All questions are compulsory.

This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions
of three marks each and Section D is of 38 questions of five
marks each.

There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions.

Wherever necessary, the diagrams drawn should be neat and
properly labelled. '



@us A
SECTION A

1. ¥ 9 ANEwaT 51 UE 0l ISEOT b G S 8 2 1

Why is banana considered a good example of parthenocarpy ?

2. WHE YRR H foeeh (fier) & A STe-3ter e FaEy | 1

State two different roles of spleen in the human body.

3. % 3OM 7 WY ¥ onfig (Usser) WhE w@ ohl | 3 WS ¥ UH I Y
T ofaey ST B o | T YR faRive (22) ®A-EA ¥ O§, Teee | 1

A garden pea plant produced axial white flowers. Another of the
same species produced terminal violet flowers. Identify the dominant
traits.

4. 3ONE TRadd (Ffafes FHael) ¥ o9 awAl § GORfed Ui w SwEm
ST b 9geR B 8 2 1

Why is it desirable to use unleaded petrol in vehicles fitted with
catalytic converters ?

5. WHEl H spufues  (UHEW)  AWe G @ UE WG 2 2 39S R s g,
fafaw | 1

Where is acrosome present in humans ? Write its function.

6. frmfafaa & Tm fafey - 1
(a) AYFEE-TEH & foU U Gaifus 9mRIer U8 S aTel SyHesl el
(b) T F FE TH I H T A=A
Write the name of the following :

(a) The most common species of bees suitable for apiculture

(b)  An improved breed of chicken
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FEE F TG q Wi F TE F A" GE A gt goEar | fewe Fifsw |
fagm & Gef o 39 wamar § 1 fo=e faeen smr 2 2

Comment on the similarity between the wing of a cockroach and the
wing of a bird. What do you infer from the above, with reference to
evolution ?

TF J9-39%F F &9 H fauAeeiiar $ gffer sany |

Mention the role of cyanobacteria as a biofertiliser.

(a)
(b)
(a)
(b)

Eus B
SECTION B

& HsF (FfFrdm) & TF @ T dIRE THRT |
T 1 AW 2 S TR H UF A &Y | wA A g S @ 2
Draw a neat labelled diagram of a nucleosome.

Mention what enables histones to acquire a positive charge.

FTHTT WA (FARSHIET) & T o qd T STy oy |

State one advantage and one disadvantage of cleistogamy.

(a)
(b)
(a)
(b)

(b)

g ¥ YHE ¥ U Gddl ST SRY Faf 9 &t @ 2
TosTd RTgEl # qeE T (FERgE) # UH O @ geeyf § 2
Where do the signals for parturition originate from in humans ?

Why is it important to feed the newborn babies on colostrum ?

o-TARIMGES TeEY & 4 & fitk Y99 ¢ ¢ & aifod 9 4 I
qARTS T (J9T) F TE SSRIEH & fia wow U @ @ od | 39
fafy % fawg o SueRT RS T TEAS SRR B - St
Y e T FH H e e @ )

9T S F 39 fafy @ e ‘FEsh e & % s @ 2
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(a) A recombinant vector with a gene of interest inserted within the
gene of o-galactosidase enzyme, is introduced into a bacterium.
Explain the method that would help in selection of recombinant

colonies from non-recombinant ones.

(b) Why is this method of selection referred to as “insertional

inactivation” ?

13. TH IS IO §C THRRT fF 3ve welifaar fFE FEd | 2

Explain brood parasitism with the help of an example.

14. frfafag & favg ¥ ¥& &1 FROT 9930 - | 2
(a) HHE I I TR F AR fod B 7
(b) B Sl N fF wywlrEd F fEsST T FE S @
Give reasons for the following :
(a) The human testes are located outside the abdominal cavity.

(b) Some organisms like honey-bees are called parthenogenetic
animals.

15. TieT 59 9% ¥ W Sar 8, 90 fAfey | 39 geIaT S A # YRR R e
yofea grer & 2 2
HAGEl
TAE ¥ g WM A wdieget (o) & 9 e wed & 9w fafew
TRRET SR § T STTR-T gfte fw YR R o R 2
Name the plant source of ganja. How does it affect the body of the
abuser ?

OR

Name the two special types of lymphocytes in humans. How do they
differ in their roles in immune response ?
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(a) HEET § ADA % 39E H &I SNUT @idl @ d97 I6 STHE & HNUT Al
3g-d3 e giem @ 2

(b) 39 dEE (FFRI) F 99 fafew ¥ gAal § ADA-DNA & Iashdi
FIERl ¥ WHEARd 6 § IWEe Ha ST 8 | 9 S aren ifyrersit
F1 A fafew |

(a) Mention the cause and the body system affected by ADA
deficiency in humans.

(b) Name the vector used for transferring ADA-DNA into the
recipient cells in humans. Name the recipient cells.

AT & wiies dor ffar stede @F A wified ITUfYE &I 3l Hd S el
qad dedl adr 99 & 69 JHR wuyE fear ?

How did Ahmed Khan, plastic sacks manufacturer from Bangalore,
solve the ever-increasing problem of accumulating plastic waste ?

i qER (2EwEs) Yo & o dwiiEn & AW ffer | s @ ek
AT fAfae | 98 7 3 AfRdl o Y GEIRd e @ 2

Name the bacterium that causes typhoid. Mention two diagnostic
symptoms. How is this disease transmitted to others ?

Tug C
SECTION C
(a) ABO T g & 3@ od gL a8 Uaiadl adl Fewwiaar & aREes
T |
(b) FrafafEd & TUBREY (FHIEEY) TaBT
(1) A
i) i

(a) Explain the phenomena of multiple allelism and co-dominance
taking ABO blood group as an example.

(b) ~ What is the phenotype of the following :
(1) g

(i) i



20.

21.

22.

23.

24,
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T Fe ge (FefsH) ¥ ST ¥ wefas o0 & §d @ R R gmde
foerar @ 7 WHEIRET |

How does industrial melanism support Darwin’s theory of Natural
Selection ? Explain.

(a) TARE F difed HoR iR 398 TH-91% 92 3T o F Thelal & § TG
¥ fafeq wedwn @ o Rd € 2

(b)y T H W FEFHT F T § TEA F TH g6l &Gy GHE |

(a) What is the programme called that is involved in improving
success rate of production of desired hybrid and herd size of
cattle ?

(b)  Explain the method used for carrying this programme for cows.

frafafed & ¥ 9% 1 ¢ 9HIRT

(a) WHeligt-did (HfEREsT)

(b) Ay Y

(¢c) <A fa%

Explain the function of each of the following :
(a)  Coleorhiza

(b)  Umbilical cord

(c) Germ pores

UIeiRs 99 W (PCR) & 39T i gC &l U& aiga 9 9 & yadq
frg wbr far smer § 2

How is the amplification of a gene sample of interest carried out
using Polymerase Chain Reaction (PCR) ?

fordt depfia W OFIfGeg g 1S4 W HHE YRR gofiE wWeiel & siad-95
T =@ o 8, fafew |

Trace the life-cycle of malarial parasite in the human body when
bitten by an infected female Anopheles.
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26.
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DNA # g8 Fefad @@ & v@ ool & g&l R8T |

Yl
E.coli § &% 3MWT & MR TEATS 4 fH9 THR GfFT gen & & ?
List the salient features of double helix structure of DNA.

OR

How are the structural genes activated in the lac operon in E. coli ?

I WHE wivis sfus mmEs dd § R WA iy ¥ fau w @

ff | fFgl A9 TN H FeEar ¥ 3§ FI9 H Y ST |

Alien species are highly invasive and are a threat to indigenous

species. Substantiate this statement with any three examples.

(a) HeESIET TR ¥ TW R W aEIg & uiE & 9l &fa @ @ |
T OIET W F BN e & O R SM At WHifa & AW fafEw @ik

gugEe ot |

(b) T & U A AAce-fafr W @ wE s F fau e A

M 9 9RS (FRI) AW fafgu |

(a) Tobacco plants are damaged severely when infested with

Meloidegyne incognitia. Name and explain the strategy that is

adopted to stop this infestation.

(b) Name the vector used for introducing the nematode specific gene

in tobacco plant.

wug D
SECTION D

(a) 3MEE TH a9 TS F TH-UF IO AFK TEEET fF o= A 9

Sta-fafawar & & 9 THE & 2 | e
(b) Sa-fafagd & dww & 9 f fafgal gweme |

Hgar
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(a) GHAHUSH (WETHER) H e & e el dar @ 2 399 A
S W 99 e § 2

(b) fFft e TE-SEer & i DDT & S9-3M9dd 50 Yor . @,
qUesy | T BN ¥ R @ wEE fRw yeR wifad @t @ 2

(a) Taking one example each of habitat loss and fragmentation,
explain how are the two responsible for biodiversity loss.

(b)  Explain two different ways of biodiversity conservation.

OR

(a) What depletes ozone in the stratosphere ? How does this affect
human life ?

(b)  Explain biomagnification of DDT in an aquatic food chain. How
does it affect the bird population ?

29, MR T R “a” T "7 & ol § 999 77 & g9 aclt slenelt geast &t
SHHET T T R

(b)

(c)
(d)

(a)
(b)

57/1

39 % fod A veuE S e Fd wgfeam quiar mar @ qur 39 dy
(freged) &7 &1 9w fafey Fe9 s9e a9 wifaa &ar @ |

Fig Ffean & oy siaer #1d TORT | sEe I MY Y ¥ER
yofed &IaT @ ? SHe e e HE § 2

“d” qAT “e” FTE3 H FT AW 7 ?

MEFH ©F & T @Fod AHifhd NG BT |
Agar

st (Yfedend) § 9 a fiee @GR e = w2
T fafga Sifveel & G (<iEE) SR |

fel T 3iar YU THASE A F LS. F = THifhd 3R IR |
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30.
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The following is the illustration of the sequence of ovarian events

“a” to “4” in a human female :
e & 4 :
- 5 > Mo o

d e f g

(a) Identify the figure that illustrates corpus luteum and name the
pituitary hormone that influences its formation.

(b)  Specify the endocrine function of corpus luteum. How does it
influence the uterus ? Why is it essential ?

(e) What is the difference between “d” and “e” ?

(d) Draw a neat labelled sketch of Graafian follicle.

OR

(a) Why is fertilisation in an angiosperm referred to as double
fertilisation ? Mention the ploidy of the cells involved.

(b) Draw a neat labelled sketch of L.S. of an endospermous monocot
seed.

Sefw ffry s Sueleldsy @A W T T yE & auiq FfE | 38E gN
fer T fs @ faeem SIS |

Agar

(a) . 9597 Gerzeq H dNE & 7 S wE fauee (32) F BT H AW Th
THHR HHUT FUEST | 39 WO F F, W d% H fRHE due W

FHifT |

() TWFR F TWU A FE@ o TH 9 S W SE-eE ¥ E,
fafaw | ;

(c) fa¥em ¥ # F, 0 & agomed aa fhy yor i &ar @ 2
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Describe Frederick Griffith’s experiment on Sitreptococcus pneumoniae.
Discuss the conclusion he arrived at.

OR

(a) Explain a monohybrid cross taking seed coat colour as a trait in

Pisum sativum. Work out the cross upto F, generation.

(b) State the laws of inheritance that can be derived from such a cross.

(c)  How is the phenotypic ratio of F, generation different in a dihybrid

cross ?



